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MATHEMATICS
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Total No. of Pages :
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General Instructions :

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION - A

Question numbers 1 to 10 carry 1 mark each.

If x =2+ /3, then [x+lj equals to :
x

(A) —243 (B) 2 (C) 4

A rational number lying between J2 and /3 is:

(A) @ ®) 6 © 16

The factors of (2a—b)3+ (b—2c)3+8(c—a) is :
(2a—b)(b—2c)(c—a)
3(2a—Db)(b—2c)(c—a)
6(2a—b)(b—2c)(c—a)
2axXbXx2c

In which of the following (x +2) is a factor ?
(A) 4x3-13x+6 B) +x2+x+4
(C) 4x3+13x-25 (D) —2x3+x2—x-19

Two planes intersect each other to form a :

(A) plane (B) point (C) straight line (D) angle

In fig.1, AB and CD are parallel to each others. The value of x is :

B

'120°
OE
140°

D
Fig. 1

(A) 90°
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In AABC, if ZA=50°and ZB=60° then the greatest side is :

(A) AB (B) BC (C) AC (D) Cannot say

One of the angles of a triangle is 75°. If the difference of the other two angles is 35°,
then the largest angle of the triangle has a measure of :

(A) 80° (B) 75° (C) 100° (D) 135°

In AABC fig.2, Zx+ Zy+ Zzis equals :

SN

(A) (B) 180° (C) 240° (D) 360°

10. In fig.3, if AB=AC and AP=AQ, then by which congruence criterion APBC=AQCB

A

(A)

940124 - B1




SECTION - B

Question numbers 11 to 18 carry 2 marks each.

Express > with rational denominator.

N7 =2

How many irrational numbers lie between J2 and /3 ? Find any three irrational

numbers lying between /2 and /3.
OR

1 1
Find three rational numbers between 3 and 5 How many rational numbers can be

determined between these two numbers ?
Using factor theorem, show that (x+1) is a factor of x1%+1.

If a point C lies between two points A and B such that AC=BC, then prove that

1
AC= 5 AB. Explain by drawing the figure.

In fig.4, lines I and m intersect each others at O. If x=40° then, find the value of y, z
and w.

Fig. 4

If two lines are perpendicular to the same line, prove that they are parallel to each
other.
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17. Infig. 5, If ZABD= ZACE and AB=AC. Prove that AABD=AACE.

A

Fig. 5

Locate the following points in the cartesian plane :
A3, 0), B(0, 5), C(—3, —5) and D(2, 4)

SECTION - C

Question numbers 19 to 28 carry 3 marks each.

1 . . .
Express T+ -3 with rational denominator.

+2 -3

1

If x=3+2+/2, find the value of (\/; + —j
Jx

OR

Express (.47 as a rational number in the form %, where p and q are integers, and

q#0.

Write the following in the descending order of their magnitude.

2,403,955
OR

Find the square root of 3.6 geometrically.

If x3+ ax2+bx+6 has x—2 as a factor and leaves a remainder 3 when divided by x -3,
find the values of a and b.
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23. Factorise : x3—8y3—272%—18xyz.

24. In fig. 6, if AB|[CD, £APQ=50° and £PRD=127, find x and y.

A p B

50° y

c Q R p
Fig. 6

The sides BA and DC of a quadrilateral ABCD are produced as shown in fig.7. Show
that Zx+ Ly= Za+ £b.

D

AD is an altitude of an isosceles triangle ABC in which AB=AC. Show that AD is also
the median of the triangle.

The following table gives the number of pairs of shoes and their corresponding price.
Plot these as ordered pairs and join them. What type of graph do you get ?

Number of pairs of shoes

Corresponding prices
(in hundred of rupees)
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The sides of a triangle are in the ratio 4 : 5 : 5 and its perimeter is 168 m. Find the area
of the triangle.

OR

Find the perimeter of an isosceles right triangle having an area of 200 cm?.

SECTION - D

Question numbers 29 to 34 carry 4 marks each.

Using factor theorem, factorise the polynomial.
x4+ 223 —7x2—8x+12

OR

3

Factorise : (x—y)3+ (y—2z)3+ (z— )

Factorise : 9x* +26x2—3
The volume of a cube is given by the polynomial :
p(x) =27x3+ 54x2 + 36x + 8.

Find the possible expression for the sides of the cube.

In fig. 8, two straight lines AB and CD intersect each other at O. If £ COE=70°, find
the values of a, b and c.
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33. Infig. 9, AB||CD and CDIEF. Also EA 1 AB. If ZBEF=40° then find x, y, z.

A
D
o |

Fig.9

OR
In fig. 10, sides AB and AC of AABC are produced to D and E respectively. The bisectors

1
of ZCBD and ZBCE intersect at O. Prove that £ BOC=90°— E Z BAC.

O
Fig. 10

34. Prove that the sum of any two sides of a triangle is greater than twice the length of
median drawn to the third side.
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